e udl ufons.

(Binomial Theorem)

** Mathematics is a most exact science M3 its conclusions are capable of
absolute proofs. - C.P. STEINMETZ*®

8.1 gfHar

fugstut a3t &9 Wit 0 + b M3 a — b SIIAT € UEPHT T TIIT M3 WS
FaaT fAfanr 31 fegst &t =93 &% wHt AftprreT @ S99 W3 Wt @ HS
U3T J9 Aaw IF, fA 397 (98)2 = (100 — 2)2, (999)° = (1000 — 1)} nife w3 fea
<, éaﬂwﬁw?ﬁms?(%f (101)¢ wrfe &t II=ET BEt T 9-T79 IS II&
we’r»mfawwmfm»mfawg;gue’rwq(&nomlal Theorem) €T €9
13T farut | fem &% (a + by fiE n Fugs A ufane A I § wArat 575
uﬁwwwmfennrfuwfekqnm?mmmmsﬁ
It € U=t yiw = wifords Jatar|

8.2 Ux HYIs Aitmet Wz ®et € uet YW (Binomial Theorem for

Positive Integral Indices)

g ufast 3 uq’hrrr fegst AgeRHa=" 3 fegrg adte Blaise Pascal
(a+ b)’ = a+b#0 (1623-1662)
(a+ b)'=a+b

(a+ b)* = a* + 2ab + b?
(a+ by’ = a® + 3a’b + 3ab®*+ b*
(a+ b)* = (a + by’ (a + b) = a* + 4a’b + 6a°b* + 4ab® + b*
fegst™ yATaT (expansions) f&g mt gue ot fa
() ymg &g uet &t g% Aftr, w3z 3 1 <u J1 @eg9e € 39 '3 (¢ + b € yA9 fI9 yet &t
fareat f3& T, 7€ fa (a + b ST W3 2 J|
(i) Y9 ST ufgd ue (@) ‘@ St W3 1 € g0 5% Weet I 7 fa gnd ue (@) v w3 1 €
IH &% 2t J, 39 feq »igr T =8 uT Bt
(i) yg € 99 fex ue &9 o M3 b Tt w3t o Az feg-fagr afier g w3 feg e+ b St w3 &

g9™9d geT J |
g wHt a + b € YA & MBIT-MBT UST € I § JoT 39T 39319 Jae It (fF39 8.1)
wg M T
0 1
1 1 1
2 1 2 1
3 1 3 3 1
4 1 4 6 4 1
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gt wrt fen Araet ST It ayaT Tue If A Ag »ast Uarst feue 9 vee a9 7 of, feg eftnm A
AaeT J fq w3z | &t Yarst e fag 1 i3 1 @ 83 w3 2 € Uarst set 2 féer 31 w3 2 <t yarst fes
fet 1,2 et M3 2, 1 Er a3 W3 3 € U9t € &t 3 w3 3 féer T w3 fem 3g7 »igt <t w3 < darst
et w3 fem 37 »iar <t 99 feq Uarst € gg W3 ¥sW 9< 3 1 Jer I | fen yfafonr & feer g fam
St wrg & s f&fiorr A7 Ager 3

At f939 8.2 ST €3 I’ aY& & 39 J9 Uarshut &y & »idr =ur Aae It |
wg W (Index) gieia (Coefficients)
0 1

1 IVI

2 lv2v1

3 1v3v3v1
4 6 4

4 1

LFH'&'&'ijQ’H’(Pascal’s Triangle)
ff=a 8.2 & g™ fam swor el fagm ot SgF fouet foer 3, fame Guas 3 3 1 I3 @ fagan
FAE &% °§8 § wr fagr 3| Afunret €t few ggaT & uHas € f3gw afde ot feg s gt afes
H'H34T Blaise Pascal @ ™ 3 | fsr):r?gﬁm T ):@' UITHI3™dT (Meru Prastara) =t dfde I& |

T U=t It It W3t € YA S UES f3gH € YEaT 7% AT T1 W8 (2x + 3y)’ € yAd
fagrdtead s adle | w3 5 5% arst 9

1 5 10 10 5 1
fem darst M3 €T (i), (ii) M3 (iii) ufge™ At fafenrt €t 93" age 98, A
(2x + 3y)° = (2x)° + 5(2%)* (3y) + 10(2%)* (3y)* +10 (2x)* (3y)* + 520)(3y)* +(3y)°

= 32x% + 240x%y + 720x%y* + 1080x%y* + 810xy4+243y51['143'€:l?ﬁ'l
g Add WAL (2x + 3y)2 € YAG dd&T 9UE I, 3T AS UfasT W w12 Set darst feust
u=ait | fer & umas f3gw St wrz 12 37 &t Ardht darshnt fay & yruz a3 A7 Ager J1 fam
3¢ fa wirt Tue gt fa feg yfaferr S5t w3t € yAg B8t &9t M3 dfes J=ait |
fen wet wirt fex, fen 397 € foun #9< & dfam J9e IF fAr &% uHas f3gw &t 7gas =&t
Uarst 3 ufost =@t Yot fay fast ot € uet € fan &t w3 & yAg 9 A |
fere et vt ufost Uz 99 AAs S U9sT ©f 93 J9d, RIS 39+ <9 feutt Aftrr=t &

n!

feg 3 fgye ot 1wt mree gt 'C, = ,0< r<n w3 n T w-foerava Aygs Afanr T1 g

rl(n—r)!

AT Unas f3gw § vaar (939 8.3) fE few 397 fay mae ot |
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W A (Index) areid (Coefficients)
0 o
=1
1 1
1 C C
[ )
2 e @ ‘o
=1) (=2) =1
3 ‘e ¢, ¢, g
(=1) =3) (=3) =1)
4 % '@ & ‘¢ ‘g
(=1) =4) (=6) =4) =1)
5 oI o L ¢ "I ¢ " PR !
=1 =) 10) =10) (=5 =1
g9 8.3 uHa® fgga

QuUda3 ays & Sue 3T, Ufos et et fay fast gt »irt uas f3gw &t far &t w3 et Yarst
aﬁwﬂa?m@mesa 'F Wz 7 et Uarst

'C, 'C, 'C, 'C, 'C, 'C, 'C, 'C,J<dt|

few 3g fem darst w3 fifentt (i), (ii) M2 (iii) €F =93 o< I8, g
(@ +b) =7C,a’+7'Ca’h +'Ca’b® + 'Ca'b’ + 'Ca’b* + 'C.a’b’ + 'Cab® + 'C.b7 yU3 Jer J1
fegat fiffent & Sue J¢ feq € uet © fan =t us=Ha AUas Aftm w3 » &t yAg feurfenr A
AgeT | g€ AT e € uet € fan =t ua=na Aygs At w3 € Yy § faue &t Afast feg ot
8.2.1 A g&"IHA HYIS Hitrd™ n BE € uel YHa (Binomial theorem for any positive integer n)

(@ +by'="Ca"+"Ca'b +"Ca?b>+ .+"C _ab'+"Cph"
A3 : fen ufonw e AEz aifef3ad fsams € Atz ewmer yuz a1 #ier J1

v& 8§ fagT Ifemm sgs P(n) few 397 ¢
P(n) : (a + by'="Ca" +"Ca" 'b +"C,a" °b* + ..+ "C_ab"~' +"CD"
n=1%gr
P(1):(a+b)='Ca +'Cb' =a+b
fem ®et P(1) A9 J1
W& 36 fan usT3Ha Auas AftT k BE P(k) HE (319) J,
= (a + b) = 'C@* + 'C,a*~'b + *C,a* 2 + ..+ 'C,b (D

WAt g€ AT J9aT fa Ptk + 1) ST A9 T, 9=
(a+b)+'=*+1C d*" +**'C a'b + *+'C d" " 'b* + ..+ **'C b
I (a+b)*' =(a+b) (a+ b)f
=(a +b) (*C,d" +*'C,d""'b +'C,d" 2 b*+..+'C,_ ab’~ '+ *C b [(1) € TI3 FI< I¥]
= 'C, ak+1+kc akb+kCak TENGREEINEY kc ab* +C, @b

k-1

+'Cd '+ 'Ca b +.+ 'C ab +'CH ! [ JIST 57H]
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=Ca "+ (*C+*C) da'b + (*C,+*C)a" " 'b*+ ... + (C+*C_) ab* + *Cp**!
[féa-fad uet & fedar J9d]
=k ICa ' +5+1Cdb + ++'Ca" ' +..+ ¥+ 'Cabt + *+'C, | b
(**1C=1, fC +4C = *+IC, w3 C =1=t+IC € TI3 Fd)
fem 397 feg g T famrr T fa 7€ P(k) 79 (atd) T 3T P(k + 1) <t H9 (ata) T | fem st arfefaa faans
¥ fAutg 3 P(n) 99 € us Ayas Aftedm 1 BEt HE (B1) T
fem yiw & wt (x + 2)° T YAT F9d AUHE Jadl ¢
(x+2)° = Cx® + °C 252 + Cx*22 + C 328 + °C 2224 + 6Cx.2° + 6C,.2°
=x%+ 12x° + 60x* + 160x° +240x% + 192x + 64
fem T (x + 2)0= x6 + 12%° + 60x* + 160x° +240x> + 192x + 64

fAid (Observations)

1. "a3 ; "Coa"'b 3 gr=
"Cya'b® + "Ca™'b + .+ "Cab + . +'Cab' I, & b= 1= a
few 397 i & few 37 = fasfepm 77 Faer T -
(a+b)" = z "C,a""b"

k=0

2. € yet yiw &9 »@= T J=far (coefficients) "C, § € Ut Jeiq A< I& |
3. (a+b)' € yAg &g yet & farest (n + 1) 7= w3 wa 3 ffq g gt |
4. ymg f&9 »igt @ T8 uet @9 o &1 w3 1 &5 uleet a<alt | ufasd ue fes feo neve fes

(n-1) M3 fer Igt #ar S wifaw ye e foo e I2qit fei m Tt b & w3 ¥ 578 Suet
A=ait | ufg® ue f<9 0 3 g T &, gnd <9 | »3 fen 397 #iar <, #fan ue &9 feg n I=aft |
5. (a+by T YR G, a M3 b w3 nd oAz Ul e ffe n+0=nemd e e (n-1)+1=n
w3 fen 39T ma® yet 9, M ue fife 0+ n=nd<arifer g v Sue T f@ a M3 b ©
W3 WA T 73 YAT © I9 fEd ue <9 n 9=
822 (a+brE lp?’?feuﬂ' Y feHHT AfG3PsT (Some special cases)
0) a:xm—;’bz—yéﬁgfhﬂ:ﬁ'@'&@?
(x—y)r =k+E)
— ncoxn + nClxn— 1(_y) + 11C2x11—2(_y)2 + 11C3xn—3(_y)3 + ..+ nCn (_y)n
— ncoxn _ nClxn— Iy + nszn—ZyZ _ 11C3xn—3y3 + ..+ (_1)71 nCn yn
fem &t (x — y) = "Cx'="Cx" 'y +"Cx" " y* + ..+ (=1)*"C y"
few €t 33" gde I, WHl Tue It
(x — 2y)’ = Cx* - Cx* (2y) + °Cx* (2y)* —°Cx* (2y)’ +°C, x(2y)* - °C,(2y)’
= x5 —10x%y + 40x%y? — 80x%y* + 80xy* — 32y°
(i) a=1M3b=x&d AS YUz Jer J
(1 +x)" = "C(1y +"C, (1)~ 'x + "C (1"~ x> + ... + "C x"
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="C,+"Cx +"Cx*+"Cx’+ ... + "C x"
fer &gt (1 +x) ="C, +"Cx +"C x> + "Cx* + ... + "C x"
feim 39 '3 x = | B At YU Fee o
2"="C, +"C, +"C, + ... +"C,
iy a=1MIb=-xBSIAEYUI I J:
(I-x» = "C,—"Cx+"Cx*— ..+ (-1)yCx"
feim 393 x = | B, vt YU g o

0="C,—"C, +"C,— .. + (-1y"C,

4
3 _
gegee 1: (x2+;j ,x# 0T YAg &3 |

S =

J% : € U=t yid €t 93 dav 98, IS fueer 9 ¢

. 3) 3 3Y 3Y 3Y
X +—| = 4C0(x2)4 + 4C](x2)3 — | + 4C2(x2)2 = + 4C3(x2) = + 4C4 =
X X X X X

9 27 81
=x3+4x°0. —+ 6. S +4x 5+ 7
X X XX

108 81
=X+ 12 + 54 + — + —
X X

Geraee 2 : (98)° €t IEET J9 |
J% : oAt 98 § € Aftnret € A3 A7 W39 © gy fI9 feutar, fAagr e w3 u3T J9s miAs 9= w3 fea
T € uet Yiw ©F <93 Jatar |
98 = (100 - 2) foy
J< (98)° =(100-2)

=°C, (100 —°C, (100)*.2 + °C, (100)2* — °C, (100)*(2)* + °C, (100) (2)* - °C, (2

= 10000000000 — 5 x 100000000 x 2 + 10 x 1000000 x 4 — 10 x10000 x 8 + 5 x 100 x 16 — 32

= 10040008000 — 1000800032 = 9039207968
Eemgae 3 : (1.01)10° 7t 10,000 &S faost Aftnr S5 T 7
J% : 1.01 & € uet {29 fay g w3 feg € ust yiw €f =93 a9¢ I ufad gg uet § fay a Arg yu3z
Jer I

(1.01)1000000= (1 + 0.01)1000000
= 100000C 4 1000000C (0.01) + I TSTIHA UE
0 1 .
=1+ 1000000 x 0.01 + I3 TSTIHT U&
=1+ 10000 + I3 TSIHT U&
> 10000

fen et (1.01)1000000 5 10000
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Eegae 4 : € ySt Yiw €t 293 Jov 9T AU g9 fa 6'— 5n & A 25 378 a1 i3 Aer I 3T gHAT |
grat ggeT J1
I8 € Afedret o M3 b BT, AT MHT Aftr=t ¢ M3 r BT AAIE 3T H a = bg + r, 3T At &fT Aae Tt
fo a & b 5% 9791 q96 3 ¢ IIRS M3 r &t YUz ger | fer g feu fifg a9s &t fa 6'— 5n & 25
3% 9791 A& I 1 grat g9€T I, /S R dasT U=aT, 6" 5n = 25k + 1, frw k f€a yrfgsa Afeenr T
WH Aree gt
(1+ay="C,+"Ca+"Ca+..+"Ca"

a=534E 3 A fser I

(1+5y="C,+"C5+"C,5>+..+"C5"

(6)'=1+5n+5"C,+5"C, +..+5"

6"-5n=1+5("C,+"C5+ ...+ 5"

6"—5n=1+25(C,+5."C, +...+5)

6'—5n=25k+1 fH& k=r"C,+5/C,+.. +52
TN EET I g 6" - 5n& 25 &% T I9& '3 gAt | g J|

744 Y3

mfgm 8.1
nifgr™ | 35 39 99 feq ferima & yIg &9 ¢

(2 xjs (x ljs
1. (1 -2x) 2. |— = 3. (2x-3) 4. —+t—

x 2
5. X+—
X
< UEl yiw &t 93 d9¢ IT, It fefamt e s u3T a9 :
6. (96)° 7. (102)° 8. (101)* 9. (99)
10. <€ yst yiw &t 293 gae 9T &n fa (1.1)"° %3 1000 {9 fagst Afumr 5T 31

11. (a+ by - (a - by U3T a3 3 fer & 293 @ (|3 +2)'- (3 —2)* T B UST a9 ?

12, (x+ 1)+ (x— 1)° €7 ¥& U™ &a w3 ferel =93 oaa A @93 a3 faat ({2 + Do+ (42 — 1) @r
H& U3T a9 |
13. feu@ fa 91 — 8n -9, 64 5% Frarar I, AT »n €T Us AYgs Afen T |
14. fiwag fa 23" "C.=4"
r=0

8.3 W A foua M3 HT U¥ (General and Middle Terms)
€ U=t (a + by © yAg 9wt S I fa ufgsT ye "C @, THAT YT "C,a™'b, SHIT UT "C 0" b
w3 fei 377G S BT T8 Yt € 3YS § SuT I¥ wiHt afg Aae I fa (r + 1) U= "Cay
IS (r + DI Ue & ot (a + by € YA &7 forrug e St afde ot i fen § T | &% fafamr
Aer JIfeRr R T ="C by
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2. (a+ by € YAT € HU yT ¥79 f&T wrt Sue It :
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() 799 n fAAz 9, 3T YA 9 uer & faest n + | 3=t | fa@fa n fAns T, fer &t n + 1

- - o n+1+1 . n . .
J=arr | fen st Ho ue ( 5 )eTgre (EHJQTUF!UEHFI

~ P =~ Y v 8 . . =
Gergae € 39 '3 (x + 2y)* € yA9 fI9 Hu ue (EHJQTEF%’S%TLIT{UEHFI

=~ o _ = . _ = v — —_ -~ — n+1 .
(ii) mnmﬁ?nﬂﬁrﬂgaw,mm’rmmewwm,ﬁ( J%’T?HE

2

7+1

2 2

7+1 ] ]
TH T ITE 58T YT IS |

-~

1
(’H +1j%+u—e’a$|f8ﬂ3§+(2x—y)7,€rl{ﬁrrafeﬁ€r)-”ruu—eawfm§far (—)?WM@

2n
1 - - o 2n+1+1) | o 2 . . v
3. (x+;j ,hﬂx;«togt{mﬁf—ﬁ'[ 3 )au—e’,wu—e’aaﬂemﬂ)au—e’,%@ﬁznm
fas Afenr 31

n
feg C x G) = ¥C (M9%) I
fem ug & x 3 HS39 UT A IS UT e I8 |
GeEe 5: a T H& UST JF HAd (2 + o)* ¥ feAf33 gu &9 1727 M3 18<T T g97eq J= |
& (x+yyeye R (r+ DIFUE I T, = "Cx™y
172 ue set, r+1=179< r=16J=<ar|
few wet T,=T,,, ="C, 2 10qa'
=%C, 2%* a'"
fen 3g T, =%C,,2% a"
IEEU] T,=T,
fem &t °C  (2)* a'*= ¥C,, (2)* a"

50 34
C16 2 6117

fem 3 S0~ 33 - 16

SOC17 '233 a

50 2 ! .33
Chp x 2 _ SO0 17033

< a= =0 =
Cp; 16! 34! 50!
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1.3.5..2n—-1)
n!

Gegme 6 : feuQ fa (1 + x> €y <=
Aferm J1

2" x" o e J=ar, fig » a us Augs

2
s - ﬁr@ﬁznﬁamﬁﬁwﬁ,mma”yn@mﬁa(fﬂjaugawe(n”)emeﬁu
ye J=ar, 7 fa few 397 J;
(2n)!

n! n!

T = 2ncn(1)2n - n(x)n = 2ncnxn = xn

n+l

3 2n(2n-1) 2n-2) ..43.2.1 ,
a n! n! *

~ 1.23.4..2n-2)2n-1)(2n) ,
B n'n! *

[1.3.5...2n-1)][2.4.6...(2n)]
- n'n! *

_ [1.3.5..2n—=D]2"[1.2.3..n] ,
- n'n! *

[1.3.5..2n—-D]n! ., .,
= 2" x

n! n!

1.3.5.2n-1) ., .
=T2 X
Gegge 7 : (x + 2y)° € yA9 ST 1% € ISF UIT FT |
ETB':%Be(x+2y)9@mfé"€x6y3,(r+1)€+U'€f€'€'7ﬂ@'€"'ﬁl
a< T, =°Cx "2y ="°C2 .x".y".
Tr+l7ﬂ'§x6y3%?x@y@WWﬁWW@H@r:3W§?%I
fem ®et, 1% T IiT
9 5 987

5,20 = .2 =

=—2 = ==2 =
36! 3.2 072

Eegge 8 : € UST YAT (x + )" <9 THAT, HT™ w3 I8 UT U9 240, 720 M3 1080 T | x, a M3 n
U3T 49|
75 fd3T 9, T UE T, = 240

ud T,="Cx""'.a
few et "C ' a = 240 . (D)
few 397 "C 2 a? = 720 )

-~

m3 "Cx*? a® = 1080 .. (3
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(2) & (1) & F9T d9& '3, Ad figer 7 ¢

"C,x"*a> 720 (n-1!a_

"Cxla 240 I ok
. a__ 6
ar e . (@
(3) & (2) 3% I7aT g6 3 AS fHwer T

a__9%

x  2(n-=2) G
GHmM3 5T

6 9

= fer®metn=>5

n—1 2(n—2)

TS (1) T 5x'a =240, M3 (4) T %=%

aM@xEﬁﬁWéﬁW@x:Z’ﬂ@'a:3Wﬂ?%l

Geuae 9:(l+ay e ynd fSe f3s sargg uer S g e Mau™3 1:7: 42 J, n UST &9 |

7% W& B8 (1 + ay € YA € 35 B33 (r - DI, /=93 (r+ DIIUC TS| (r — DI UE 'C._, a2,

3 fewer greta 'C,_, I fer 377 /=2 w3 (r + 1)F UT T ISF gHe9 "C,_ |, M3 "C T |
fa@fa aretat e mgu™z 1: 7 : 42 3, fen st

nCr—Z _ l
" 7,3"€n—8r+9—0 .. (1)

~ ncr—l _ l
m3 e 42,3"'%'n—7r+1:0 .. 2)

r

(1) M3 (2) § I8 q96 3 n = 55 YUz Jer J|

mfg 8.2
I U3T 99 :
1. X (x +3)¢feg 2. a% € (a - 2b)2 9
Jot fez € uet € ynrat 9 femmug ue usT a4 :
3. (- y)° 4. (P-y0)2 x=0

5. (x—2y)? ¥ YA <9 987 ug U3 ad |

18
1 -~ . . — (VN
6. (996—?) Tyrg fIT 13=fug uzr ad fHa x 2 0
X
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Jot fez € yet € yAaet f[S9 Ho yg u3T &g :

x3 7 N 10
3_2 i
7.( 6] 8.(3+9yj

9. (1 +a)™ € yA9 f<T AT 99 fa@ ¢" M3 ¢ € IS'T 99790 IS5 |

10, x+1)TYefEg (r- )T, =M3 (r+ DT UST T IS T MIUS 1:3:53, n M3 rU3Taa |

1. ffoadfa 1+ Tyrefd v erged, 1+ 'SR gy T gsa@ I €IS I

12. m € T&TIHT H& U3T d9 A% (1 + x)" € YA9 <9 1% & J=iq 6 I= |

gea® Gergaet
3 1Y
@mlﬂ:(axz—?) T Y9 R x T HSIT UT U3T Ad |
X
3 6-—r 1 r
i o AeY gt T =6C,(—x2j (——j
r+1 2 3X

<(32>:6‘_2: e

= (-1 °C,
xTHISTUE B xS WIHNT ) JSTINter I I 12 - 3r=0, fen et r =4

O _3 5
4 (2)6—4 12

fen et 5erue x I HIIT I M3 feg (- 1)* °C

Gegge 11 : 739 (1 + 0)" © YA T o7, o’ M3 o™ € I=Tq Waaief3a 3t f<e 9 37 fig a9

n—-n(4r+1)+4r-2=0

7% (1+a)" YA RT (r+ DI W€ ne o’ I fen Ig feg S Arrmer I fx o (r + DR U ST
wer In3 ferer e 'C JIfeRn set o, o M3 o+ 'TISI gHEF"C,_,"C M3 "C,, I |

faGfa feg areta waafefsa &=t f<9 g5, fem &t 'C_ +'C , =2/C J=qr, fen 3

n! n! n!

(r—l)!(n—r+1)!+(r+1)!(n—r—1)! B 2><r!(n—r)!

1 1
(r=D!(n—r+)(n=ry(n—r-1)! " (r+D(r)(r=Dl(n—r-1!

y 1
rr=D!n-ry(n—r-1)!
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. 1 1 1
a7 (r=D! (n—r-1! {(n—r)(n—r+l) " (r+1) (r):|
1
X
(r=D! (n—-r=D[r(n-r)]

1 N D
(n—r+1)(n—r) r(r+1) r(n—r)’

d

r(r+)+(m—-ry(n—r+1) _ 2
n—rY(n—r+)r(r+1)  r(n—r)

rir+D)+mn-rmn-r+H=2r+1)Mmn-r+1)
rP+r+m—nr+n—nr+rr—r=2nmr-r*+r+n-r+1)

n?—4dnr-n+4rr-2=0

mw-n@r+1)+4r-2=0
gelaa?u:@gfsr(l+x)2"-é'1{mafévﬁuue@a:@isr(1+x)2n-l-é'qma-€ré»“rcrue+@a;@ia+
g 13 ¢ ¥d™9d J<dI" |

44314 3

2
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